TRIGONOMETRIC IDENTITIES

MULTIPLE CHOICE QUESTIONS

(1)

sin 2o =

2l . Y
(a) COS 0L — SN~
(c) 280 coso
cosda =

Y i )
(a) dcos’a — 3cosa

(c) 3cosa + 4cos'a
sec x =

(a) sec(x + 2m)

(c) Cos X

sinP + smnQ =

. P+Q P—Q
(a) 2sin—,  cos
. f P-Q
(c) 2cosT 5 .cosT 45
cos(aa — ) =
(a) cosa cosf + sma smfd
(c) sina cosP + cosa sinf

(b)

(d)

2sin‘a + 1

SINCL . COSKL

[Lahore Board 2005-08, Lahore Board 2015]

(b)
(d)

(b)
(d)

(b)

(d)

(b)
(d)

3cosa — 4cos’
None of these
[Lahore Board 2005]

sec(x ~ m)
sin X
[Lahore Board 2005]
. P+Q . P-Q
2sin 5 .sinT 5

None of these

[Lahore Board 2005]

cosa cosP} — sina sinf}
sina cosP — cosa sinf3
|Gujranwala Board 2005]



(7)

9)

(10)

cosec (m—a) =

(a) sina
(c) cota
1 +cos2a =
(a) cos’a
(c) sin“o

coS [% = B] =
(a) cosp
(¢) sinf3

2sina cosfp =
(a)  sin(a + )+ cos(a — B)
(¢)  sin(e +B)— sin(o — )

(a) cosecH
(c) secO

o 1 + cosa

A [LTCOSA

\\j 2

o

(a) cos
(c) tan >
sinda =
(a) 3sina + 4sin‘a
(c) 3sina — 4sin’o

(b)
(d)

(b)

(b)
(d)

(b)
(d)

(b)
(d)

(d)

(b)
(d)

cosa.
coseca
|Gujranwala Board 2005]
2cos o
2sina.
[Gujranwala Board 2005]
T
cos 5
—sinf}

[Gujranwala Board 2005]

sin(a + ) + sinfa — )
None of these
|Gujranwala Board 2006]

—cosecH
None of these
[Gujranwala Board 2006]

o
S 7

None of these

[Gujranwala Board 2006]

4sina + 3sin‘a
3sina + 4sin‘a
[Lahore Board 2006]
|Gujranwala Board 2006]



(14)

(15)

(16)

(17)

(18)

(19)

Ifrcosd =3 | rsin® =4 then ris:

(a) 25

(c) 5

tan(180° + «) 1s equal to:

(a) tana

(c) cota

cos26 is equal to:

) | —tan0
(a) | +tan’®
R 2tand
© T+ tan

smb =

(a) 2 sinE

.0
(c) 2 cos” 5

“

co-ratio of cosine 1s:
(a) sec
(c) cosec

tan2a equals:

(@) tano.

a —

< | — tan‘a.

©) 2tana

c —_—
| — tan’a

tan(270° + 0) is equal to:

(a) cotd
(c) cotd

(b)
(d)

(b)
(d)

(b)

(d)

(b)
(d)

(b)
(d)

[Lahore Board 2006]

—tana
—cotu
[Lahore Board 2000]

| — tan"0
| —tan’®
| + tan’0
2tan0
[Gujranwala Board 2007]

: 0
sin 5. €0s 5

.0 0
2sin5 . cos 5

[Lahore Board 2007]

sine
cos
[Lahore Board 2008]

tan2a
| - tan’a
2tana
| + tan"a
[Gujranwala Board 2008]

tand
tan0

|Lahore Board 2014, Gujranwala Board 2009]|



(13)

(14)

(16)

(17)

(18)

(19)

Ifr cosB =3
(a) 25
(c) 5

tan(180° + «) 18 equal to:

(a) tana

(c) cota

cos26 is equal to:

) | — tan’0
(a) 1 + tan’0
2tand
© T tan
sinf) =
0
(a) 2siny
.0
(c) 2 cos” 5

co-ratio of cosine is:
(a) sec

(c) cosec

tan2a equals:

() tano.
a —
’ | —tan-«
©) 2tana
C —
: | —tano

tan(270° + 0) is equal to:

(a) coto
(c) cotO

, rsind =4 then r is:

(b)
(d)

(b)
(d)

(b)

(d)

(b)

(d)

(b)
(d)

(b)

(d)

(b)
(d)

-5
95
[Lahore Board 2006]
—tana
—cota
[Lahore Board 2006]
| — tan0
1 —tan’®
1 + tan’0
2tan(
[Gujranwala Board 2007]
. 0 0
siny . cosy
9] 0

2siny.cosy

[Lahore Board 2007]

sine
cos
[Lahore Board 2008]

tan2a

| — tan“a

| + tan’a,
[Gujranwala Board 2008]

tanf
tan0

|Lahore Board 2014, Gujranwala Board 2009



(20)

—
[R]
(]

—

(24)

(26)

a. .
tan 5 is equal to:

-
{1 = cosa
(a) =N
1+ cosa
—
L [1 = cosa

{.C) A ‘\\jl' 2

‘TE
COS 5
\2

(a) cosb
(c) sinB

2sin12°sin46° equals:
(a) c0s34° + cos58°
(c) sin34° + sin58°

sin [? 0 chuals:
(a) cost

(c) —cos0

2sino. cosfy equals:
(a) sin(fae + ) — sinfo. — )

(¢) sin(e + ) + sin(ec — )
sin l:_rt 6] =

(a) cosd

(c) sinf

2¢0s50 . sin30 =
(a) sin8&0 — sn20
(c) cos80 + cos20

(b)

(b)
(d)

(b)
(d)

(b)
(d)

(b)

(d)

(b)

(b)
(d)

[1+ cosa
, 1o
\‘-..,‘. 1 — cosa

I

[1 + cosa
.1 cosa
N, Ir' o)

\ L
N

[Gujranwala Board 2009]

—sint)
—cos6
[Lahore Board 2009]

sin34° — sin58°
c0s34° — cosS58°
|[Lahore Board 2009]

sinf
—s1nf

[Lahore Board 2009]

cos(a + ) + cos(a — )

cos(a + ) — cos(a — )

[Lahore Board 2009]
—cosd
—sind

[Lahore Board 2010]

sIn8O + sin20
sin46 — sinb
[Lahore Board 2010]



(29)

(30)

(31)

(33)

ey :
cos 5 is equal to:

| + cosa
(a) Ty
] + sina
) —TH
tan2a =
2tana
(a) ]7
— tan-o
(c tano.
©) | — tan“a.
cos(n—0) =
(a) sinf
(c) cosO
cos(m—0) =

(a) sin
(¢) cost
sin (=300%) =

/3
(a) -

e

. 2
(c) \ |'|§

by

(d)

(b)

(d)

(b)

(d)

Distance between the points A(3, 8) and B(5

(a) \/5

. 2
(L) 1'\." 2

(b)

Fundamental law of trigonometry is

(a) cos(a +p)
(b) cos(a — PB)
(¢) sin(a +3)
(d) sin(a = 3)

|l

cosa cosP — sina sinf3
cosa cosf} + sina. sinf
sina cosf3 + cosa sinfy
sinc cosf} — cosa sinfd

1 — cosu

7

/ 1 + cosa.
+ '\\\J -

2tana

1 + tan"a

tanc

| + tan“a

—sind

—cost

—sinb
—cosO

, 6)1s:

[Gujranwala Board 2010]

|Lahore Board 2012]

[Lahore Board 2012]

[Lahore Board 2013]

|Lahore Board 2013]

where o,  are any two angles:



(34)

(35)

(36)

(37)

(38)

(40)

(41)

(42)

-~
Ul
|
-

2 ';..a )
= e
mF =)

~1

—2

—Cos Y
s

sin

2

. | | -
sin“a + sin“3
3 “y
cos o + cosP

tan 54°
tan 37°

cosA
tanA

sinl00 — sin40
cos100 — cos40

28INX COSX
2s1n6x cosx

sin20

| —

L§

cos 75
(a) sz (b)
3+ 1

(c) \ﬁ (d)

sec (— 300%) =

(a) 1 (b)

(¢) 2 (d)

Ifa, B. y are angles of triangle then cos (o +3) =

(a)  cosy (b)

(c) sin vy (d)

sin(fae + B) . sinfo —f) =

(a) sin‘o — sin:‘B (b)

(c)  cos’a — cos™PB (d)

cosl1® +sinl1°

cosl1® —smll°

(a) tan 65° (b)

(c) tan 56° (d)
sinA +sin2A

1 + cosA + cos2A

(a) sinA (b)

(¢) COtA (d)

2sin70 cos30 =

(a) sinl 00 + sin40 (b)

(c) cos100 + cos40 (d)

sindSx +sin7x =

(a) 2sin3x cosx (b)

(c) 28Inx cosbx (d)

sin (% -0 l sin (% t H)

(a) % cos206 (b)

(c) % sinf coso (d)

2sin0 . cos20



(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)

If x = y = 0 then point P(x, y) lies in quadrant:

(a) I (b)y 1I (c)
lan[—a + % - B) =
(a) tan(a + 3) (b)
(¢) cot(a +3) (d)
If cotor + cotd = O then o = ?
_ n ,
(a) 7~ 0 (b)
(c) n+0 (d)
2c0s0(1 - cos’0) sec’0 — |
It sin20 > 0 and tan“0 . cot0
(a) 1 (b)
(c) 111 (d)
sech #
f L
‘ 31+ cot®
(a) . (b)
cotl
(¢)  ~JcosecO — 1 (d)
hlvi
tan Pl
N o 1 — cosSa 1
(@) * W1+ cosSa (©)
. |1+ cosSa .
© = \\f | - cosSa (d)
+B -
cosa — 2cos % . COS G—QE + cospp =
(a) sinct. cosP (b)
(c) sin(oe — 3) + cosa (d)
The value of cos 315° is:
(a) 0 (b)
A3 _
(c) g (d)
cos 2o =
(a) 2 cos’a + 1 (b)
(c) 2 sin"o + 1 (d)

111 (d) v

tan(a — 3)
cot(ae — )

-0
None of these

< 0 then "0 lies in the quadrant:

11
IV

|
/1 = sin’0
cosecH

~Jcosec’® — 1

Sa

[ —cos 5

T T 5y
\ Sa

Y \fl | + Cos 5~

None of these

0

cosa . cosp
|

1

N ﬁ

2 costa — |
2 sin"d - 1



(1) C (2) a (3) a (4) a (3) a
(6) d (7) b (8) C (9 b (10) b
(11) a (12) ¢ (13) ¢ (14) da (15) a
(16) d (17) b (18) C (19) C (20) a
(21) b (22) d (23) a (24) C (25) b
26) a (27) d (28) a (29) d (30) d
(31) b (32) b (33) b (34) d (35) ¢
(36) d (37) C (38) C (39) d (40) a
(41) d (42) a (43) a (44) ¢ (45) b
(46) b (47) ¢ (48) a (49 b (50) d
(51) b




